*TLRISEBEDMEICARYFFITTEET,

*Adhesive rubber feet in cluded

B/A\RR)L
B Panel

D/ )L
D Panel

C/\R: )L
C Panel

1
THh/N—

Bottom cover

Bt AR—LYhE X / Knurled Thumb Screw 3L / Rubber feet

@11.2 51

= q

0.5

FERLINZ / Components

No. & / Part name =2 / Pcs & / Material - REUIE / Color-Finish

1 EH— 1 TR t2.0 B
Top cover Acrylic t2.0 Transparent

2 THi— 1 TR t2.0 B
Bottom cover Acrylic t2.0 Transparent

3 AE IV 4 TR t2.0 B
Pael Acrylic t2.0 Transparent

4 X 4 T ILEIRH# A6063S-T5 DIIR=TFILTA+
Extruded pillar Extruded aluminium A6063S-T5 Silver * Anodized

5 1T FAE—L v hE R(M3 x 8) 8 E5p5 =TIV AYE
Knurled Thumb Screw(M3 - 8) Brass Nickel plated

6 EREERARAR—H— 4 RVl =T ILAYFE
Spacer Brass Nickel plated

7 ABRR—H— 4 Ebwd Z9 LAy
Spacer Brass Nickel plated

8 Raspberry PiHR{TFAE R(F-M2.6 x 4) 4 % Zfyoi—k
Screw for Board(M2.6 — 4) Steel Trivalent chromate

9 AR—H—EftFAE R(MM2.6 x 5) 4 % =ffooA—+
Screw(M2.6 - 5) Steel Trivalent chromate

10 3L ZE / Rubber feet 4 R LAY / Polyurethane %88 / Transparent

WA EIR : Raspberry Pi 4B

Suitable PCB : Raspberry Pi 4B

”

BRARUINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

g/ Title

Raspberry Pi 4B ACRYLIC CASE

Raspberry Pi ABEEFH7 S JL—XR

o]

RE/Scale

7 R/ Approved 18X /Checked #1[X]/Created FIZE /Product number
RPA-4B-2
iR 1 H A1l s
{Em B /Date 2020/10/30




B/\2x)L / B Panel

= =1

o L1
I ]
I ——— —=
C/\ARJL / C Panel £5/3—/ Top cover D/ )L / D Panel T H/\— / Bottom cover
4-R20 » B-B(1:2)
d——] ~ ——b
10 0 | | 2 2| 0 O] ¢
0 [ C & 0 0O s
aflis . ; 2 2 0o
O O o O #
A A O E [le G[l
' e
q J [ 2 e 0

— s
A/NZR)L / A Panel

= =

62

1
q

S
A-A(1:2)
o ]
o
» o
2 E o
5
R 3
T = H \ % /Title
i |_|o 1 M TAKACHI] #ARUIHFEHRIE Raspberry Pi BERT7 V) JLr—R @ G
ﬁ_' TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Raspberry Pi 4B ACRYLIC CASE
N . 752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
ﬁx)]j,f RPA—4B—2 1:2
Max dim. 58 thiR iae] =0 ) /6
{YER B /Date 2020/10/30




EH/\— / Top cover

4-R20

125

EH/\—3RM / Top cover Frontside

95

/_\

Axh~ti% / Max dim. 57.9

<ti% / Max dim. 88.4

o

o
P

Z

ol

EH/N\—ZM / Top cover Backside

72

N\ N
\\/ \\/
——
2.1
N
o
2.1
e J—
N N
&/ (
10.1
mn/Title
TAKACHI] #ARUIHFEHRIE Raspberry Pi BERT7 V) JLr—R @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Raspberry Pi 4B ACRYLIC CASE
7 R/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
RPA-4B-2 I
iR 1 H w1l

{ERL B /Date 2020/10/30




T#7/3\— / Bottom cover

TH/\—ZRE / Bottom cover Frontside

4-R20

125

95

72

4-P3.4
Lo
52}
(o)
N
o
D
(9]
4-M2.6 AIMYN

TH/\—Z / Bottom cover Backside

2.1
2.1
C

5.1

10.1

10.1

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title

Raspberry Pi 4BEEFE7 7Y L —R

Raspberry Pi 4B ACRYLIC CASE

o]

752/ Approved

iR

#%[X/Checked

1% H

#1[X]/Created

A1l

RIE /Product number

RPA-4B-2

RE/Scale
1:1

{ERL B /Date 2020/10/30




A/NAJL / A Panel

17.1

26.6

18.2

A/N:JLFRE / A Panel Frontside

B/\2x)L / B Panel

299

23

12.05 13.25
1
© ©
© © ™
-— — <
] — = [
© < 3
| |
15.3 15.3 16.5
493 12.7
1
8-R1.5
6
= -
6
17
© (D
22.5 17 22.5

B/\2JLZRME / B Panel Frontside

24.6

26.6

10.7

18.45

26.5

16.95

62
—
= ] [ s o
LT
10
58
A/NA~)LEM / A Panel Backside
62
—
(@)
z S =
(@)
[ N R D T
5 5
58
B/\2RJLEE / B Panel Backside
m#/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Raspberry Pi 4BEEFE7 7Y L —R
Raspberry Pi 4B ACRYLIC CASE

o]

752/ Approved

iR

#%[X/Checked

1% H

#1[X]/Created

A1l

RIE /Product number RE/Scale
RPA-4B-2 1:1
fERH/Date  2020/10/30 5/ 6




C/\7~J)L / C Panel

15 149 145 345
1 1
~ N N 298
R ()
§ ) /
z I: < <
- i )
. ) O
T | I | | I |
8-R3 2 =
12 12 12
C/\2:)L3R M / C Panel Frontside
D/\2~JL / D Panel
454 15 15 17
1 1
AQ
f\ f\ f\
I: \J \J \J
f\ f\ f\
\/ \/ \/
| I | I |
6-4x17 R2

D/\2:)LFERME / D Panel Frontside

22.6

26.3

13

14

26

21.9

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

924
el | —
> [ 1 o 2
© L J o
—1 L1
10 10
88.4
C/\AJLEM / C Panel Backside
924
el | —
= | ] el ¢
© L J o
—1 1 L1
10 10
88.4
D/\ARJLEME / D Panel Backside
m#/Title

Raspberry Pi 4BEEFE7 7Y L —R

o]

Raspberry Pi 4B ACRYLIC CASE

RE/Scale

752/ Approved 18X /Checked #1[X]/Created RIE /Product number
RPA-4B-2 I
iR 1 H AN 6 / 6
{YER B /Date 2020/10/30




